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S2 Wages & Salaries Hmk (1) 
1. Travis works in a sports shop and gets a basic pay of £4·50 per hour. 
If he worked 35 hours last week, how much was he paid?
2. Simone works as a radiographer. 
Her hourly rate of pay is £14·50. 
She worked for 30 hours last week.
How much did she earn?
3. Fraser’s payslip last week showed he earned £322.
He knew he had worked for 35 hours. 
Calculate Fraser’s hourly rate.
4. Davie is a dental nurse and earned £330 last week. 
He worked for 40 hours. 
What is Davie’s hourly rate of pay?
5. Polly’s monthly pay at The Art Shop is £584. 
Calculate her annual (yearly) pay.
6. Craig is a consultant at a privately owned hospital. 
He is paid £7250 per month. 
Calculate Craig’s annual pay.
7. Danny has a part-time job as a milk boy. 
He is paid £38·50 per week. 
Calculate Danny’s pay for a year. 
8. Bob earns £25 800 per year as a train driver. 
Calculate his monthly salary. 
9. Hazel works as a shop assistant for More Stores. 
She is paid £8 216 per year. 
Calculate Hazel’s weekly wage.
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1) Travis works in a sports shop and gets a basic pay of £4·50 per hour. 

a. If he worked 35 hours last week, how much was he paid?
2) Simone works as a radiographer. 

a. Her hourly rate of pay is £14·50. 

b. She worked for 30 hours last week.
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b. What is Davie’s hourly rate of pay?
5) Polly’s monthly pay at The Art Shop is £584. 

a. Calculate her annual (yearly) pay.
6) Craig is a consultant at a privately owned hospital. 
a. He is paid £7250 per month. 

b. Calculate Craig’s annual pay.
7) Danny has a part-time job as a milk boy. 
a. He is paid £38·50 per week. 

b. Calculate Danny’s pay for a year. 
8) Bob earns £25 800 per year as a train driver. 

a. Calculate his monthly salary. 
9) Hazel works as a shop assistant for More Stores. 

a. She is paid £8 216 per year. 

b. Calculate Hazel’s weekly wage.
S2 Wages homework answers

	Question
	Working
	Answer

	1
	35 X 4.50
	£157.50

	2
	30 X 15..50
	£435

	3
	322 ÷ 35
	£9.20

	4
	330 ÷ 40
	£ 8.25

	5
	584 x 12
	£7,008

	6
	7250 x 12
	£87,000

	7
	38.50x52
	£2,002

	8
	25800 ÷ 12
	£2,150

	9
	8216 ÷ 52
	£158


